Credits

This project was inspired by the awesome poster
created by the Space Cookies Vex team.

In order to make it more accessible, I've chopped it
down into 8.5”x14” (legal paper) sized chunks. Most
printers can handle these dimensions. I've also added
some parts and done some re-arranging.

I’'ve borrowed extensively from their own images, as

well as isolating my own images from the VEX store.

Please, feel free to rework, reproduce, and distribute
this work. | believe the use of VEX images falls under
fair use as a transformative use, and so long as you are
using this in an educational environment and not
trying to sell it to other people, we should all be in
good shape.

This is still a work in progress, with a few of the more
exotic parts missing. Please, if you make any additions,

send them my way!

| will also have my part bin labels ready to share soon.




Advanced Electronics

o = Sy P -'-"-’"' .
g & A -ﬁ" = S < - .
E - TE : ‘ -
] { t N
A4 Ny,
r "

VEX ARM®
Cortex®-based VEXnet Key 2.0

VEXnet Joystick :
Microcontroller

[

>
LCD Display Serial Y-Cable VEXnet Joystick
for LCD Display Power Adapter

Coiled Handset Cable Programming USB A-A Cables
Hardware Kit




Batteries,
Sensors, Cables

7.2¥ Robot Battery 7.2V Robot Battery Smart Charger v2 Powver Expander
NifAH 2000mAh MiMH 2000mAh Power Cable

5, 4 : --
RN DR /:

VEXnet Backup Battery Holder i Battery Straps
NiMH Battery

i @ $:’

Ultrasonic Range Light Sensor Optical Shaft
Finder

L &
ﬁcﬁm‘; Yaw Rate

Gyroscope
SensorV1.0

Cables, Retention, and Miscellaneous

 f \
\----'"—'_"'\
2-Wfire Extension 3-Wire Extension 3WireY-Cable 4-Wire Exransion F-F 3-Wire Adapter Cable
&7 125 247 367 67 127 247 367 6" 12" 12"

e

Competition Cortex
Wire Retalning Clips




Y300l #8 41001 09 YI00L 9€ Yool ¢zl

194 Jearn)
paads ybiH

@
?

$3|NPO J8podug

pajesBaiu) 186 Je8n) oguny

sJean) piepuels

m-ame _n \m —

13]|0J3U07 IO

-

Jasu|
leany aienbg

1195U| Jeany
bujuuidg asi4

sieany Yibuaais ybiy

UM QInay  _ OAJSS BIM-E

JOIOW BIIM-Z

$a11085300Y pue SI1010

siear) GH pue Si0}0|N




SUIT JUBWIYIEeNY pesilyuel |BdYmeibog s|qnog  [ssym eibog 3|buls  s|sBYA J3|PI/8ALQ PES.L

. &

W) peaiLijuel

YI00L ¥ Y001 8l Y001 71 YI00L 9

Bes-

urey? g s3yroads Yyibuans ybiH

peal] ‘uieys ‘s}aya0.ids




yuesy pueq wnig youry  (Sutuuidsaaid)  (paydene)

J : As|Ind As|Ind

‘9

|Mmed 19yney

' 19)de.g

pue ‘4amoj|o4 ‘we)

JUlOf [eSJaAIUN

aweu4
M3J2S peal

Yoanpd J010\

Ma12S ped

|eusalxy ) 4 |euJalu|

SONIL 9pIIS |30V

SWISIUBYDIDIA| Pa2URAPY




ZA Jean yoey lean) yoey dweld [ElIUAIBYIA  [99YM WHOAL  JBSD) WO ICELYELES

SIea0) PIJUCAPY

Yl00L #8 4looL 09 4100] 9¢ yooL ezl

siean piepuels§




13j0Y ey ba7 |29YM 9 Wnuessy i uondes| Yybiy, v

s|paym Lyepads S[@aYM [euolalIg-luwQ XIA

yibuans ybiy ,5z¢ WSTE G/




Hardware

6-32 Hex Drive Screws. Use Only for motor and rack connections. (Black or Brass.)
W wees) oo
1/4" 1727 1/2" Locking

8-32 Hex Drive Screws., Used for all Structural Connections {(Black or Silver.)

i W " = —— w— a——
1/a" 378" 12" 5/8° 3/a* 7/8"

N ——
114" 1172

& - A e

Shoulder Screw  Thumb Screw  Star Drive Screw  Setscrew Coupler, 172 Coupler, 17 Rubber Link
8x32 /2" 8-32 8-32x0.125" 832 832 832

Spacers and Washers

Steel Washer TeflonWasher Black Spacer BlackSpacer  White Spacer  White Spacer  White Spacer  White Spacer
4.6mm 8mim /8 1/4* 378 1/2*

. o Aluminum Standoffs also
24 = T - ~ available in the following sizes:
' s, 025, 0755 1.5, 257 31 47 5. 6

KepsNut  NylockNut  HexNut  Standoff “Standoff
8-32 832 832 Wz 1

i

Shafts and Hardware

& & ap o

Bearing Block LockPlate  FlatBearing  Pitch Bearing  DrveShaft  27or 3 Drive Shaft 127 Drive Shaft
Bar Lock

s @ & » =~ L >

Shaft Coupler  Clampling Shaft ~ RubberShaft  Universal Joint  Shaft Collar Bearing
Collar Collar Attachment
Rivet

High Strength Shafts and Hardware

High Strength Drive Shafts also
available in 3% and 127 Sections

-

High Strength High Strength High Strength 2"High Strength \ 4”High Strength
Shaft Bearing Shaft Spacers  Clamping Shaft Collar Drive Shaft Drive Shaft




Steel Kit




Steel Kit




m
[
QO
e
/p




m
[
QO
e
/p




Steel Kit

Gussets

45 Degree  90-Degree Plus Gusset Pivot Gusset
Gusset Gusset Angle

S8

Angle Gusset 90-Degree Angle Corner
Gusset Plate Gusset
Brackets
Pulley Gearbox Worm Gearbox Bevel Gearbox Rack Bracket
Bracket Bracket Bracket

Couplers and Hinges

®2 @

Angle Coupler C-Channel Coupler Hinge




Aioieg HININ 1abieyn A1a1ieg
sdesis A1911eg diny A1en3e9 19p|oH A1aneg dnyeg 1aux3A  9|gesbieyday Yy Mews vyvy/ vy Aeg-g

& CGme

2[qe>) 19MOd 9|geD) ISMOd YywoooZ HAIN Yywoooe HWIN
Japuedxg Jamod ZA Jabieyny uews ZA Jabieyn) Lews Alaneq 10qoY AZ'/ Alo1eq 10004 AT/

siagieysn pue saliayeqg




Tools, etc.

h 5/64" Hex Driver
3/32" Hex Driver S— _‘

”__— 3/32" Ball-End Hex Driver

5/64 Hex Key

T15 Star Drive Key

Cinch Strap

Anti-Slip
Mat

T8 Star Drive Key

Rubber Band #64

&d

1” Adhesive
Foam Strip

Velcro Strip

=

Open EndWrench

ik 4

VEX Safety Glasses

Velcro ONE
Wrap




( 1) Partial Claw Assembly
(2)2.000" Long Drive Shaft
( 3) 12-tooth Gear

(4 ) Bearing Flat

( 5 ) Shaft Collar

(6)8-32 0.250" Screws
(7)6-32 0.250" Screws










Not done yet

- Rubber Link

- Pneumatics

- Turntable bearing

- Bearing

- Regular sprockets and chain

- Steel swerve brackets
- Rack brackets?!?



